T # 4 EBEBEE  FEIA b ook b 5 B AR I o T THX5y
T == fE Bl HAL | & 4 ) = Bl N ER

TFENRA % = 1 121, 000, 000

(N iﬁ@ﬁ%ﬁ’@%ﬁﬁi/ﬂ) ( 0)

Bk b mAFERGIERmELE TE | X 1 6,720,000 | HEERUER:  IGTRBEE 1=

7 RFRIE T 1 =K

—BATN 1 H IR R s T % EN 1 9,504,000 | H¥EREER:  IGTRBEE IS
BRI T 1 =

SEIRTN 3z 5 EEAR AR i o T % = 1 9,504,000 | H¥ERUEER:  IGTREEE 1=
BRI T 1 =

I ATN 5 7 BE AR AR i oo T 2 EN 1 6,816,000 | MgERIEER:  IGTRBEE IS
BRI T 1 =

FOEALNTN - 35 7 B AL A 33 i oo T3 = 1 19,872,000 | fEERCEEr  1G T RfmikdkiE 1 )8
BRI T 1 =

IRILTN 33 5 BEAR AR i o T % EN 1 7,008,000 | M¥SRGEE  IGTRBREE IS
BRI T 1 =

BN AR od T 5% = 1 11,712,000 | HavdoE® 167 RREEE G
BRI T 1 =

JIGUIN - 5z 7 BE AR AR i oo 1T 2 eV 1 7,008,000 | M¥SRGEE  IGTRBREE IS
BRI T 1 =

KITIRIN RN YOE L EN 1 5,103,000 | UG ER TN IE 1 @
EoRUOER  (REARSTF O 1 M
BRI T 1 =

IRILTN A2 ECERR M CE T eV 1 14,521,000 | MEascEEr  FRBAHIEE ]
BRI T 1 =

BESR N koL T RS AR AR i e = 1 10,944,000 | BEERCEL  1G T RfnikdkiE 1 )8
BRI T 1 =

FMHEJCT =5 SEE EN 1 2,304,000 | MEERUOER  PLABREEEE IS
BRI T 1 =

PRI S A EAFEHRGIERmIOETE | X 1 4,896,000 | MEERciiERr  m HEEHIEEEE (/D 1=
BRI T 1 =

Hifr b ETERRER YOS TS | X 1 5,088,000 | M¥SREE  IGT-RfBREE IS
BRI T 1 =

FhTR = 1 23, 160, 000

ImERE (K5 L4y eV 1 920, 000

Bl E Ay = 1 1, 634, 000




B A W 7 &=
T F 4 FKE BB EGE A b ool 7 A I R oo T2 THEXS ERLE
T %= & 3 AT | g R oo ER
T = 1 20, 606, 000
&t 144, 160, 000




